QUIZ 2: For Little’s Longitudinal Structural Equation Modeling Chapters 4 & 5
[These quizzes are intended to be completed after the readings, and the answers are given in boldface].
1. When is the effects-coding method of identification preferred over fix-factor method?
a. When the scale/metric of the indicators are meaningful
b. When the scale is meaningless
c. When we don’t want inflated errors
d. When are loadings are correlated 

2. Which one of the following is NOT synonymous

a. Latent variable

b. Latent factor

c. Construct

d. Indicator

3. Which of the following is NOT a measure of model fit?

a. RMSEA 

b. CFI

c. Chi Square

d. SRMR

e. NTL

4. What Greek symbols is used to represent the mean of an indicator?

a. Tau

b. Lambda

c. Phi

d. Theta

5. Assuming a correctly specified model in which a latent construct is indicated by 3 manifest variables, which of the following statements is INCORRECT?

a. The model is just-identified
b. The model is under-identified
c. There are three observed variances and three observed covariances
d. There are an equal number of known and unknown pieces of information
6. What is the goal of the longitudinal panel model?
Attempt to estimate potential changes in the variances of constructs that are repeatedly measured
7. When adding mean structures to a latent variable model, why do we use as zero the fixed scaling point?
The reason 0 is used instead of a nonzero value is that means are estimated as distance from 0 (either positive or negative). 

8. Name one useful feature of phantom constructs.

They allow one to see the correlation metric, while still allowing one to see the model loadings and fit without any change.

